FIBE| BTH | M3 ROE NO 3 ~ 8 NAME MISS

// 3N~08”§ HEzEH -0

R WOFFEZ L2 S0, M2 | WOFEE LRI,
NO6 NO8
@ 7(6a+3b—1) @D 42abc+ (— 14bc)
NO6 9 NO8
® 3 (12x—18y—36) @ (—386xyz) ~ (—24xz)
NO6 NO8
® 7(—2m+5n)—3(m—3n) ® 54xy3+ (—36x%H2)
NO6 NO8
@ (12m—8n+4) -4 @ (—40ab2c) - (—3ba2c?)
NO6 5 NO8 3
®  (ha—10b+15) = (-3 ®  (—8xy2) - (— )
NO6 NO8
1 1 9 a. S
NO6 NO8
@ Xt Y @ 202X 12x2+ (—8xy)
4 5
NO6 NO8
2x—y  b5x—3y 18a%b2=+ (—6a2b) + (— 4ab?)
3 2
NO6 3yt 4 NO8
©® 2xt+y— x; a © 8x3y2+ (—2x)2X (—3xy)
NO7 5 ) NO8 2 , (2 B2 2423
—ab-+ (—ab)2?X
——xX (——=)z) 361 361 ¢
10 9
NO7
@ — Tx3y2X 4x3y?2
NO7 L 9 3,2
@ —gx )2 X Zy z
NO7
® (—ab?)3
NO7
3a3b2x (— 4ab) 2
NO7
@ (3x2%y)2X 3xy?




